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6. [12 points] A portion of the graph of a function f is shown below.
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y = f(x)

a. [2 points] Find an equation for the tangent line to the graph of y = f(x) at x = 0.5

Answer: y =

For parts b-d below, evaluate the given expression. If the expression does not represent a real
number, write dne.

b. [2 points] lim
u→2

f(u)

Answer: lim
u→2

f(u) =

c. [2 points] f ′(f(7))

Answer: f ′(f(7)) =

d. [2 points] ln(f ′(9))

Answer: ln(f ′(9)) =

For each of the following statements, find all real numbers c in the interval 0 ≤ c ≤ 10 such
that the statement holds. If there are no such values of c, write none.

e. [2 points] lim
x→c

+
f(x) = f(c) and f is not continuous at c.

Answer:

f. [2 points] f(c)f ′(c) = 0.

Answer:
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